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1|55 A 5,000 [110/10/01 [A: ¢ PRAx2 Eipfees | £ |- 4% 2
AR 1,000 [110/10/01 |4 ¢ pRasr2 &apfers [E |- 4 & =
3| %1% % 1,000 [110/10/01 |4+ ¢ PR 2 &apfers [E [- 42 =
4% #7¢ 1,000 [110/10/01 |4+ ¢ pRAs2 &apfers [E |- 4 & =
R A T - R
5;;;;;;2;;; 3,000 [110/10/01 [k & pRAs % & dpfcns (£ |- 4xd =
6% 2%z 3,000 [110/10/01 [4- ¢ PRAs % Ldpsces |[£ |- 48 2
7|3 kit 375 |110/10/01 |4+ & PRAx % & ¥pgees |[£ |- 4% 2
8% # & 375 |110/10/01 |4+ & PRF% % & dpsces [£ |- 48 2
9% 34 375 [110/10/01 |4+ & PRax % A ¥pders |8 |- &g »
10[% =t 375 |110/10/01 |4+ PRA% % &L dpsces [£ |- 48 2
1137 ¢ ¢ 500 |110/10/01 |4+ PRAx % &dfees |[£ |- 4% 2
12|F < ¢ 5,000 [110/10/01 [A- & PRFx% L ¥psgees |[H |- & =
13| #vz 4 12,000 [110/10/01 [4- g PR 2 &pfers | £ |23 Bpd »
14| fiv5g 2 12,000 [110/10/01 [4+ ¢ rRas2 Lgpferes [H |37 w2 &
15[3% * 4% 1,000 [110/10/01 |4 ¢ pRix % Sipfees |4 |2 8%~
16]78~ & 1,000 |110/10/04 |3- ¢ PRFx3 Edpgees [ |- b »
17)5 % & 3,000 [110/10/04 [4- ¢ PR7s 2 Lipscrs [£ |- 48 2
18] 4 7 100 [110/10/04 |4+ ¢ PRA% 2 A grtees B |- 42 =
19]:% . 100 [110/10/04 [4- g PR 2 & pgees |£ |- % =
20| & & 100 [110/10/04 |4+ € PRA%2 Lpfees B |- 428 =
21| 48 100 [110/10/04 [4- g PR 2 & pgees |£ |- % =
22|B itk 100 [110/10/04 |4 € PRir 2 Eapferes | £ |- 428 2
23|MsF 2 4 100 [110/10/04 [4- g PR 2 & pgees |£ |- % =
24|48 i & 100 [110/10/04 |4 ¢ PRA%% L grers |£ |- & =
25 % % K 100 [110/10/04 [4: g PR 2 & gpgees |£ |- dx % =
26):£ 448 100 [110/10/04 [4: § PRix 2 &ipgers [£ |- 422 =
275 % ) 300 [110/10/04 |4+ & pR7% 2 &Lipgces |4 |- 48 2




Fzss  EFFRGRFR TGP
A TEERE  FTRELS > LK P ipdeT

(=) EASE T

110#10% 1p 2110#107 31p

CFFRATL LS REAL D -

EDEEF -9 o N EREN I REEE:F AR S S
(Z)dBAL g RIBPERS 2 FPBIFL Do
(2 )R & AFH2 Gipgpr L o
(Z)RBAFLFHF2 L 0o
(F)2A &2 FH2 Frepirt do
CHEw P EAAEREPeZ L Do
I
Bl oy A R AN (R W R T
5 v (23 1 REPH (IR R . Pl
g

28| F 5 300 [110/10/04 [A+ ¢ pRir 2 Lpferes |[£ |- 42 =
29[5 B 3 300 [110/10/04 [4+ & pRi%2 Lapters |4 |- 42 =
30|58 4= 300 [110/10/04 [A+ ¢ pRix 2 Lpferes |[£ |- 42 =
31|13 &5+ 300 [110/10/04 [+ ¢ rrix2 Lgptces [£ |- 42 =
32tk % 3,000 |110/10/04 [4+ ¢ PRFx 2 Lapfers |4 |- 48 =
33| % £ ¢ 1,000 |110/10/04 |4+ € PRAx% &apscrs B |- 42 2
ES S 2,000 |110/10/04 [4+ ¢ PRFx 2 Lapfers | £ |- 48 =
35|F Mi% 2,000 [110/10/04 |4+ ¢ pRix2 &ipfees | £ |- 458 2
36[77 % 4 300 [110/10/04 [A+ ¢ pRix 2 Lapferes |£ |- 48 =
37|# £5 100 [110/10/04 |4+ € PR7% 2 Zpfees |2 |23 jp b =
385 k% 100 |110/10/04 |4 € pRAx 2 Lapsers | |23 s
39| % = ik 1,200 [110/10/04 |4+ ¢ FRAx % EHapfees A [ 85~
40+ % & 12,000 [110/10/04 [4+ & pRix2 &pfees |8 [P L =
415 "e % 3,500 [110/10/05 [ € rRF% %2 A spgcns [H |- 4 & =
42|+ B A 2,000 [110/10/05 |4+ € pRA%x2 &ipfees | £ |- 468 2

B A 45D
A3|P AL €ARTIZ L £ | 10,000 [110/10/05 |A € pRAs 2 &apfers [E |- 422 =

A
A4 R4 4 1,000 [110/10/05 |4+ ¢ pRix 2 Hipgers |8 |- &8 2
45\ P ¥ 3,000 [110/10/05 |4+ ¢ PR+ 2 &ipfees | £ |- 4p 8 2
6[7% £ ¥ 3,000 [110/10/05 |4 ¢ pRix2 Lipfees | £ |- 428 2
4712 P 4 3,000 [110/10/05 |4+ ¢ PR+ 2 &ipfees | £ |- 4p 8 2
182 & % 3,000 |110/10/05 |4+ ¢ PR32 Lapferes | |- 42 =
49| % 7 & 3,000 |110/10/05 |4+ & PRA%% & gpgces |[H |- 4n 2 =
DO[#F & ¥ 3,000 |110/10/05 [A+ ¢ PRAx % Lapderes |£ |- &8 =
Sl %k & 10,000 {110/10/05 |4+ ¢ PRF% % L gpfees |H |- &% =
2%l ik 500 [110/10/05 |4+ & pRi%2 &aptees |4 |- 42 =
53| kAT 500 {110/10/05 |4t ¢ pRi%3 Agpgees |2 |- 42 =
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54| %1% % 500 [110/10/05 |- & PRAx % A ¥pders |8 |- &g »
55| F1 % 500 [110/10/05 |- & pRAs % A spfers [E |- g 2
06| 2 % < 500 [110/10/05 |4+ & PR7% % Adpsert [E |- 48 2
57|35 #F 1,000 |110/10/05 |4+ € pR5% 2 &ipsees [ |- 48 2
58|15 3k * 1,000 |110/10/05 |4+ € pR5%2 &dpsees [ |- 4 & 2
b9|% £ 4= 1,000 |110/10/05 |4+ € pR5% 2 &ipsees [ |- 48 2
60| £ 4 4 600 [110/10/05 |4t PRix % A¥pfers [ £ |- &g
61| M 33 200 [110/10/05 |+ & pRAs % A opfers |8 |- g 2
62|% P i 200 [110/10/05 |+ & PRax % A ¥pders |8 |- &g »
63|77t % 300 [110/10/05 |+ PR7s % Edpfert [E |- 48 2
64| ‘@ 200 [110/10/05 |+ & PRax % A ¥pders |8 |- &g »
652 % ~ 500 [110/10/05 |4 ¢ PRix % Lspsert | [img & =
I EE 1,000 [110/10/06 |4+ & PR3% 2 &dpdees [H |- 48 2
67|k i 7= 1,000 |110/10/06 |4+ € pRsx 2 &ipsces [ |- 48 2
68| 3% ~ 7 1,000 |110/10/06 |4+ & PRi%2 & st |H |- i d 2
69|44 | 2,000 [110/10/06 [4- § PRix 2 &pgers [£ |- 422 =
70|42* % 200 [110/10/06 |+ & PRax % A ¥pders |8 |- &g »
T|zg ¥ 200 [110/10/06 |+ & pRis % Eopders [E |- g 2
72|42 % Bt 200 [110/10/06 |+ & PRix % A ¥pders |8 |- &g 2
73|42 1 & 200 [110/10/06 |4+ & pRis % Eopders [E |- g 2
TA|tk % W 200 [110/10/06 |+ & PRix % A ¥pders |8 |- &g 2
75|F f 4% 5,000 [110/10/06 |4+ § PRix2 &ipders [£ |2 %% =
6| & 4% 5,000 [110/10/06 [4- ¢ PRz &apfers |[£ Mg =
T & A K 200 |110/10/07 |4+ PR7% % &Lifpgers [£ |- 48 2
78|tk A 200 [110/10/07 |4+ & PRax % A ¥pders |8 |- &g 2
T9[F 41 1,000 [110/10/07 |4+ ¢ PRix 2 Lipgers £ |- 48 2
80|~ ¢ 5,000 [110/10/07 [4- g PRAx2 &pgcns [£ |- 462 =
81|18 #i& 1,000 |110/10/07 |4+ & pR5x 2 &grdees [ [- 48 2
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82tk £+ 1,000 |110/10/07 |4+ & pR5x2 &gdees [ |- 48 2
83|3% " 1,000 [110/10/07 |+ € ppsx2 &gpgees & |- 4 & =
84 z*ﬁ#&"’\" T2 10,000 (110710707 ik g pean 2 g gpgess | |- an s
85| 5k =4 e 3,000 |110/10/07 |4+ € rRs% 2 Lipsgens |2 |- 4% =
865 3% 3,000 [110/10/07 |4t ¢ prirz &apgens [£ |- 42 =
87|% s F 500 |110/10/07 |4+ ¢ PRA% 2 & ipgces |8 |- 4n 8 2
883 4= 4+ 500 |110/10/07 |4+ & PRF% 2 &ipgcrs [£ |- 48 2
89|% i 4 500 |110/10/07 |4+ € PRA%2 & ipgces |8 |- 4n 8 2
90| % 500 |110/10/07 |4+ & PRF% 2 &ipgcrs |4 |- 48 2
S 400 |110/10/07 |4+ & pRax2 Epfers |8 |- 42 =
92|+kic % 400 |110/10/07 |+ & pRix 2 Lapfens |8 [- 48 =
93|38 5¢ ih 400 [110/10/07 |4+ & pRas2 &pfers |8 |- 42 =
04|34 & 400 |110/10/07 |+ & pRsx 2 Lpfens |8 [- 48 =
95|38 % % 400 [110/10/07 |4+ & pRas2 &pfers |8 |- 42 =
963 & i 500 |110/10/07 |4+ & PRF% 2 &ipgcrs |4 |- 48 2
07|35 M % 500 |110/10/07 |4+ ¢ PRA%2 & spgces |8 |- 428 2
98 |4 Ag o0 1,000 [110/10/07 |+ & pRA%2 & pfens |5 [- 4 & =
99[M % 7 = 100 [110/10/07 |4+ ¢ PRA% 2 A grtees B |- 42 =
100F % 5 100 [110/10/07 [4: g PRAx2 Lapgcns [£ |- 452 =
101 |m e 4 100 [110/10/07 |4+ € pRir 2 Egpferes |2 |- i =
102] Ft e 7 100 [110/10/07 [4: g PRAx2 Lapgcns [£ |- 452 =
103352 # 200 |110/10/07 |4+ ¢ PRAx2 & ipgces |8 |- 428 2
104|385 ~ 5,000 {110/10/07 [4+ ¢ PRA% 2 & gpgces |2 |- 458 =
10537 # 2 2,000 [110/10/07 |4+ ¢ pRAx 2 &spdgees |2 |- 42 =
106 k5% £ % 1,000 [110/10/07 |4+ & PR5% 2 &isees [ [T % & 5
107]+k 3734 2,000 [110/10/07 |4+ ¢ pRax 2 &spdgees |2 | d =
108[% i = 8,000 [110/10/08 [4+ ¢ PR7%2 Lprscrs |2 |- 48 2
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#
109|% £ % 500 [110/10/08 |4+ € PRF*2% L Epfres |4 |- %5 &
110 % % 4 500 |110/10/08 |4+ € PRFx2% L gpfees | |- & & =
111{#% % % 3,000 [110/10/12 |4+ € PRF*2 L ipfcer | |- &% 2
1121 % & % 5,000 [110/10/12 |4+ € PRF*2 L ¥pfrer | |- 4% =
113| % 4= & 1,000 [110/10/12 |4+ € PRF%3% E¥pfces |H_ |- &% =
114§ & & 200 |110/10/12 |4+ € PRAx2% Espders | |- & & 2
115|% % i 250 [110/10/12 A+ € PRFX2 L Epfees |4 |- %5 &
116] 3§ &2~ 200 |110/10/12 |4+ € PRAx2% Espders | |- & & 2
1175 ik 4% 200 |110/10/12 |4+ € PRFx2 Egpfees |4 |- & & =
118] % = % 100 {110/10/12 |4+ € PRFx 2 L¥pfees (4 |- &&=
11938 £ 4o 100 (110/10/12 [A+ & PRF% 2 HEpfees |4 |- &5 =
120] 58 gL 3¢ 100 {110/10/12 |4+ € PRFx 2 L¥pfees (4 |- &&=
121{#" % *§ 100 (110/10/12 [A+ & pRF% 2 HEpfeesr |4 |- &5 =
122[#F A > 100 {110/10/12 |4+ € PRFx 2 L¥pfees (4 |- &&=
123| % § & 100 (110/10/12 [A+ & pRF% 2 HEpfeesr |4 |- &5 =
124+ 45 500 [110/10/12 |4+ € PRF:2 EHEpfces |4 |- %5 2
12542 % 2 500 [110/10/12 |4+ € PRI% 2 L spfees (£ |- &5~
126]% 7 " 1,000 [110/10/12 [A+ € PRF%2% L¥pfces |4 |- &&=
127tk % ¢ 500 [110/10/12 |4+ € PRI% 2 L ipfeer (£ |- &5 ¢
1284k % 41 500 [110/10/12 |A- & pRisx2 Edpfees [H |- i~
12951 -x i= 500 [110/10/12 |4+ € PRI% 2 L ipfeer (£ |- &5 ¢
130|+% & 500 [110/10/12 |4: ¢ PRIx3% Lspdees |H |- & &~
131{m & 500 [110/10/12 |4+ € PRI% 2 L ipfeer (£ |- &5 ¢
132|%12 F 500 [110/10/12 |4+ € PRF:2 L Epfrer |4 |- %5 2
133 |4k ts & 500 [110/10/12 |4+ € PRI%2 EHipfees (£ |- &5~
1344 % % 500 [110/10/12 |A- & pRix3 Edpfees [H |- i »
135|¥1# % 500 [110/10/12 |4+ € PRI% 2 L ipfeer (£ |- &5~
136| 3 &5 500 [110/10/12 [4+ ¢ pRir 2 Zspfens |8 |- &8 =
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137 %% % 500 |110/10/12 |4 ¢ pRasr2 &ptces | B |- 4 =
1382 35 500 |110/10/12 |4+ € PRFx2% Egpdees | |- & & 2
139+ % 500 [110/10/12 i+ & pRax 2 Aspgers |8 |- &2 =
140| 45 % 500 |110/10/12 |4+ € PRFx2% Egpdees | |- & & 2
141tk o 500 [110/10/12 |t & pRax s Egpsens |8 |- 48 =
142|7% =+ 500 [110/10/12 |4 & pRAx% E¥pfees [& |- i~
143 |k 4 '8 500 [110/10/12 |A: & PRI % A pdces |8 |- &% =
144115 % = 500 |110/10/12 |4+ € PRFx2% Egpdees | |- & & 2
145|117 & % 500 [110/10/12 |4+ € pRA% 2 Aipsers |8 |- 48 =
146|1F & & 500 [110/10/12 |4+ € PRF:2 EHEpfces |4 |- %5 2
147 M+ 2 500 |110/10/12 |+ € PRFx2 Egpfees |4 |- & & =
148+ 3 500 [110/10/12 |42 & pRax 2 & spgees |2 |- g =
149|538 % 500 |110/10/12 |+ € PRFx2 Egpfees |4 |- & & =
150] % 4§ 160 |110/10/12 A€ rRix 2 &Epsers |2 |93 Bp s
151|% & 160 (110/10/12 |4+ € PRF% 2 H¥pfees |4 |BE AL 2
152| gk % 500 [110/10/12 it & praz s Aspgers |2 (282 =
153[# £ 5 500 [110/10/12 |4- ¢ FRix% Aspfees | [ % %~
15415 & % 500 {110/10/12 |4+ € PRFx % L ipfers |H_ [ % &~
155|% % § 160 [110/10/12 [4r ¢ prarz Lspgers |2 |2 82 =
156 | &% % i 160 [110/10/12 A+ ¢ PRix% AEpsees £ |2 B & =
157 2= 300 [110/10/12 |52 ¢ rear s &apgens | |8 F20
10858 ~ = 160 [110/10/12 |4+ g PRAx 3 Eipferes |[E [ME L
159 B & 2,000 [110/10/12 |4+ € PRF22 L ipfcer |4 [ 2
160 4> =2 100, 000 [110/10/13 [+ ¢ PRIx+2 Lipdees | & [- & &~
1613 & % 10,000 [110/10/13 |4+ ¢ pRi% 2 Edpfers | £ |- 42 =
162|Fh % -+ 200 [110/10/14 |4+ € PRF:2 L Epfees |4 |- %5 2
163[2 % B 200 |110/10/14 |4+ ¢ pRir2 &ptcrs | B |- 4 =
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#
164[2 % % 1,000 |110/10/14 |4 ¢ Rix% Ldpgees |£ |- & & »
165 3 1,000 |110/10/14 |4+ € PRFx2 Egpdees | |- & & =
166 44 200 [110/10/14 |A- ¢ PRI* 2 Lipdees | & |- 4% =
167|# > %5 300 [110/10/14 |4+ € pRI%2 L ipfrer [H |- &5 2
168 F = i 600 |110/10/14 |4+ € PRIx % L Epferes |4 |BF # s -
169|#x 3 & 2,500 [110/10/14 [A- ¢ pRix % LEpferes |[H |2 %% 2
170[+k % = 2,500 [110/10/14 |4 ¢ PRFx % Lipfers |H_ |2 % &~
1714k i % 1,000 |110/10/14 |4+ ¢ PRI+ 2 A spgees |5 e s =
172|% #r 5 # %2 3 #5835 | 10,000 [110/10/15 |4 € PRA:2 Lpdees |2 |- 4 =
1733 4% 8 1,000 [110/10/15 |4+ & pRA%x2 &gpfees |5 [- 4 & =
1743 1,000 [110/10/15 |4+ € pRisz &ipgens |5 |- 8 2
17538 s 1,000 [110/10/15 |4+ & pRAx 2 Eipdgers |2 |- &8 2
176[3 % 4 1,000 [110/10/15 |4+ € pRisz &ipgens |5 |- 8 2
IYWERES 1,000 [110/10/15 [A+ € PRF%2% L¥pfces |4 |- &% =
178 st 22 500 |110/10/15 |4+ & PR32 Epsens [£ |- 42 =
WEEES 500 |110/10/15 |4+ € PRF% % A gpfers |2 |- 4 =
180|% & ¢ 500 |110/10/15 |4+ € PRFx2 Egpfees |4 |- & & =
181]2 A s 500 |110/10/15 |4+ ¢ PRA%2 & spgces |8 |- 448 2
182|“r¥ 44 500 [110/10/15 |+ & PRF% 2 Apsert [E |- 48 2
1834k 5 2. 500 [110/10/15 |A: & PRI%* % Aspsces | & |- &% =
184] 2 48 2 500 [110/10/15 |+ & PRF% 2 Apsert [E |- 48 2
1853 + i 500 [110/10/15 |A: & PRI%* % Aspsces | & |- &% =
186 £ 3 500 |110/10/15 |4+ € PRFx2 Egpfees |4 |- & & =
187|m & % 500 |110/10/15 [4+ € pRA%2 &gptces |4 |- 42 =
188k 38 2 500 [110/10/15 |+ & PRF% 2 Eipsent [E |- 48 2
189|m % & 500 [110/10/15 |A: & PRA* % Aspsees |8 |- &% =
190|Fh 55 £ 500 |110/10/15 |4+ € PRFx2 Egpfers |4 |- & & =
191|579 5. 4 600 |110/10/15 |i ¢ FRix% A dpgees |£ |- & & »
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192]38 T 500 [110/10/15 |t PRFs % &spders [E |- g 2
19335 % 2 500 [110/10/15 |4+ & pRis 2 &spgcns [E |- &% =
194|» % 500 [110/10/15 |4+ & pRis 2 &spgcns [ |- &2 =
195|582 48 1,000 [110/10/15 |4+ & pRis 2 & spgens [E |- &% =
196/ 3% 38 §- 1,000 [110/10/15 |4+ & pRis 2 &apfees | |- 4% 2
197[ 51 5% £ & 400 [110/10/15 |4+ € PR 2 Eepsees [£ |- &% =
198|3 31} 4 400 [110/10/15 |4 € PRFs 2 & dpders (£ |- &g =
199|147 5% & ¥ 400 [110/10/15 [A+ € pRFs 2 Edpfers | £ |- &8 2
200/ =& 250 |110/10/15 |4t & pRA% 3 Lspgens |2 |- 42 =
201 | © 250 [110/10/15 A & PRix 2 L ipfers | |- 48 5
202k 1 3 250 [110/10/15 |4+ & pRis 2 &pgees |[H |- &% =
203 fj 47 3 250 [110/10/15 A & PRix 2 L ipfers | |- 48 5
204| @ % F 250 [110/10/15 [4+ € pRIx2 & pfees |8 |- 48 =
205(2 @ % 500 [110/10/18 |4+ & pRis 2 &spgcns [ |- &% =
206|2 3 2 500 [110/10/18 |4+ & pris 2 &pgces |E |- &% =
207 ?ﬂﬁ%&" P 500 [110/10/18 [t & FRis 2 & gpgiens [ |- sz =
208 % soip 300 [110/10/18 [4% & pris2 & ¥pfees |8 |- &% #
209 3 5% 300 [110/10/18 |4+ & pRir 2 &spgcns [ |- &% =
210[3F % % 500 [110/10/18 [4% & pRis 2 & pfees |8 |- &% 2
11| & i 500 [110/10/18 |4+ & pRis 2 &spgcns |8 |- &% =
12| B & 500 [110/10/18 |4+ & pRir = &ipgens [ |- 428 =
213|2 % % 500 [110/10/18 |4+ & pRis 2 &spgcns |8 |- &% =
214[2 3 = 500 [110/10/18 |4+ & pris 2 &spgees |E |- &% =
2153 =% 100 [110/10/18 |4+ ¢ rRsx 2 Aspsert € |2 Bnd =
216]% i ¥ 100 [110/10/18 |4 € PRAs % Lpdees |[£ |93 Bp b 2
217 |F 4 # 1,200 [110/10/18 |4+ ¢ JRA% % Lipfers | [ %%~
218t % 4 10,000 |110/10/19 |4+ § PRF % E¥pfees |[£ |- 4 d 2
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219| 2 16 H 10,000 [110/10/19 |4t & FRis % & gifeet |4 |- &b
220[% 2 % 1,000 [110/10/19 it & FRir % & sifer [ |- ® -
212 g 1,000 [110/10/19 [ & pit* & spgee® £ |- 5k =
222 R % 1,000 [110/10/19 [t & FRir % & sifers [ |- ® -
223|% K7 200 [110/10/19 [t & Fiis = & stsees |4 |- 42k =
2043 + 8% 200 [110/10/19 [k ¢ Pz * & spdeer | |- % =
29541 & Eix 2,000 [110/10/19 [i* & riis * & sideet |4 |2 % & =
226[# iz 7% 2,000 [110/10/20 [ & Pt # & sigicst |4 |- 4nk =
221|15 » & 500 [110/10/20 [ ¢ Fis 2 & sideer | |- ik -
208 7+ 12,000 [110/10/20 |4t & FEis % & gifeet |4 |- 58 -
229| &1 7 2,800 [110/10/20 [ ¢ pRis & & spgess | |- b -
230[ & 5 =+ 2,600 [110/10/20 [t & pis # & sigiest |4 |- 4k =
231 [Em i 2,600 [110/10/20 [ & Piis * & sigicet |4 |- 42k =
23917 1 % 2,000 [110/10/20 [ & pis # & sigices |4 |- 4ak =
233?9 RPIRBP 000 (110710720 [ & i x B gpgess |2 |- axd 4

i

2343 & 2 1,000 [110/10/20 it & FRir % & spfee [ |- b -
235[1§ & L 1,000 [110/10/20 [ & pit # & spgees & |- 5k =
236 s % = 6,000 [110/10/20 [t & pis # & sigiest |4 |- 4k =
237+ 73 2,000 [110/10/20 |4 € PRA%+ 2 L pdfees |H |- 4 & =
FNEEEE 20,000 [110/10/20 [t & pisn % & spgert |2 |2 % 5 =
230 % ¥ ~ 200 [110/10/20 [ ¢ Fis® & spdcet | |mad -
METTS 2,000 [110/10/22 i g pris» & gigess | |- it -
241[F % & £4210704458 | 1,600 [110/10/26 [t & rar 2 & spgers |[X |- ik =
242# 2 i 1,600 [110/10/26 [+ & piir 2 &spger | |- 5k =
243 i 500 [110/10/26 [ ¢ Fris® & spdcer | |- ik =
NETE 200 [110/10/26 |- ¢ pis * & safeer | |- % -
245( %3, 200 [110/10/26 [ ¢ pis® & spdecer | |- ok =
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246| % s £ 2,500 [110/10/26 [4- § PRz &upfers |4 |- 4p & =
247|% 4 + 200 |110/10/26 |4+ PRAx % Ldpgces [£ |- 48 2
248| % 5t & 100 |110/10/26 |4+ ¢ pRFx2 Lupgers | £ |- 8 =
249| % K B 100 [110/10/26 |4 € PRir 2 epferes |£ |- 2% 2
250[1f & % 100 [110/10/26 |4+ & PRF% 2 Eupfees | £ |- 4% =
251 | M 1,000 |110/10/26 |4+ € pR5x2 &Lipsces [ |- 48 2
252|% & A& 100 [110/10/26 |4+ & PRA 2 & dpfens [ |- 4x % =
253|% B 100 [110/10/26 [4: § PRix 2 &apgers |[£ |- 422 =
25419 1p it 100 [110/10/26 |4 € PRir 2 Eapferes |E |- 428 2
205|% I & 200 [110/10/26 |A- € PRA% 2 L ipfces |[H |- 4% =
256|5 &1’ 1,000 |110/10/26 |4+ € pRsx2 &Epsces |E 3724 08 2
25T|¥ > 4 3,600 [110/10/26 [4- g prir2 &spders |4 |BF#1EE 2
258|% "% st 3,000 [110/10/27 |4t g PRz &upfers [£ |- 46 & =
209| 3 AT 375 [110/10/27 [A- ¢ pRax % Lspgees | |- &b =
260]% % 375 |110/10/27 |4t & PRAx 2 &dpees |[£ |- % 2
261]% 4 375 [110/10/27 |- pRas % A opders £ |- g 2
262|% =l 375 [110/10/27 |t & PRax % A spders |8 |- &g
263 % 2 & 100 [110/10/27 [A- € PRir 2 Egpfees | £ |- 428 2
264|% # 4 100 [110/10/27 |4 g PRir 2 Eopfees | B |- 2%
265| % # % 100 [110/10/27 [A- € PRir 2 Egpfens | £ |- 428 2
266/ 3z 2 300 |110/10/27 |4+ & PRAx % &dpgees [£ |- 48 2
2675 ¥ % 1,000 |110/10/27 |4+ € pR5x 2 &ipsees [ |- 48 2
268|2 & s 1,000 |110/10/27 |A+ € pR5% 2 &Ldpsers [ |- 4 & 2
269|2 fp4% 1,000 [110/10/27 |4t & JRA%% E¥pfees | [- &5~
270| 2 #E 3¢ 1,000 [110/10/27 |4+ € pRix2 &apfers [E |- 42 =
271 E A 5 € v § 10,000 [110/10/27 [4: § PR &ipgers [£ |- 422 =
27204 % + 750 [110/10/27 |4t PRir 2 A ¥pfers [ £ |- &g »
273|476 40 750 [110/10/27 |4 & pRis 2 Aipdess |8 |- 48 2
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274(1 8 # 200 [110/10/27 4% & PRis 2 & ¥pfees |8 |- & & 2
27538 * 4 1,000 [110/10/27 A& pRis 2 &spgces [ (2% % =
o7l = C FERESN 100 000 [110/10/28 ik & peas s e |4 |- o

Brogoiheg | - A s

277\ 3 5 & 1,000 [110/10/28 |4+ & pRis 2 &pgens [E |- &% =
278 % £ = 1,000 |110/10/28 |4+ € pRsx 2 &Lgpsers [ |- 4 & 2
279|834 % 1,000 [110/10/28 |4+ & pRis 2 &spgcns [E |- &% =
280 | Fh A & 1,000 [110/10/28 |4+ & pris 2 &pgees A |- &% =
281|% & if 1,000 [110/10/28 |4+ & pRis 2 &spgcns £ |- &% =
282[% B & 1,000 |[110/10/28 |4+ & pris2 & pfees | |- &% »
28315 % 2 6,000 [110/10/28 |4t g PRir2 Lapgens |2 |- 42 =
284|320 4¢ 6,000 |110/10/28 |4+ § PR % & dpfers [£ |- 48 2
285| & & 4 6,000 |110/10/28 [A: ¢ PRA% 2 Lpgees | |- &b =
286 |tk fr 20,000 [110/10/28 |- ¢ PRdx % &3pfers |8 |2 % & 2
28713 AE 1,000 |110/10/28 |4+ ¢ FRF% % L¥pderes |4 [2 2 & 2
288 |38 & 7k 1,000 [110/10/28 |4+ & pris 2 &upgees A g% =
289|3" 1€ ~ 1,000 {110/10/29 |4 ¢ PRF+2 Lspfces | |- 458 =
2905 3 500 [110/10/29 |t & PR7% % &dpfers |[£ |- 48 =




